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In the conditions are

controlled.

(A)  Experimental Method
(B)  Clinical Method

(C) Introspection Method
(D} Questionnaire Method

Which of the following is a kind of

applied psychology?

(A)  General Psychology

(B)  Social Psychology

(C) Educational Psychology
(D) All of the above

Who  belongs to school of

behaviourism?

(A)  Wilhelm Wundt
(B) Herbart Spencer
(C) J.B.Watson

(D)  None of the above
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According to Piaget, during which

stage there is lack of lanpuages in a
child?

(A} Sensori-motor stage

(B)  Pre-operational stage

(C)  Concrete-operational stage

(D) Formal-operational stage

In which kind of reasoning the
principles are formulated on the

basis of specific examples?

(A)  Inductive reasoning

(B)  Deductive reasoning

(C)  Simple rensoning
[} None of the above

Who propounded 'Group-factor
Theory of Intelligence™

(A} Thorndike
(B Stern
(C) Thurstone

(D Binet

PTO
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If the 1.Q. of an individya| rangeg

between 75-90, he is termeg as

(A)  Gifted

(B) Morons

(C)  Average intelligent

(¥ Dull

The gifted children :

(A}  Perform difficult mental

tasks
(B} Learn slowly
(C)  Have less vocabulary
(D} All of the above

Whostates, "Learningisa process of

progressive behaviour adaptation™?
(A) Woodworth

(B} Hilgard

(C)  Crow and Crow

(D} Skinnper
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10.  f%m wE # RE “foe TEifaE 10, Who says, “Educational psychology
LSl o o I gZ Ham describes and explains the learning
T T T Hef aeEl & A experiences of an individual from
M T FI BT birth through old age."?
(A) e (AY Hilgard
= (B) Skinner
Cc T
© = s (C)  Crow and Crow
D EEE ]
£ (DY  Woodworth

11.

Am 2 wmeim i ¢
‘ m?ﬁmﬁ 11. Who propounded ‘Theory of |

Classical Conditioning’ of Learning?

(A)  wHErs i
_ (A) Thorndike I
(By  fim l.'
(B) Skinner l.
(C) oA ) |
. {C)  Thurstone
(Dy Yasa

;

D Paviev
12, afs uw frfa F He gm0 frafa

H Wras § FetaE wiaw v g, @

q , hinders the learning in another
TH FEl AW € situation, it is called -

12, I the learning in one situation

(Ay AR T

(A)  Positive transfer of learning
(By TSR

(B} Negative transfer of learning

(C) YA T

(D) wwrw § A #E T

(C)  Zero transfer of 1enrn'n1;g

(D) None of the above

RT.0.
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known as sta Be of stregg and
B

trainy

(A)  Infancy stage

(B)  Childhood stage

(G Adolescence stage

(D} None of the above

According to Piaget, in which
stage a child begins to acquire

vocabulary?

(A)  Sensory-motor stage

(B} Pre-operational stage

(C)  Concrete-operational stage

(D}  Formal-operntional stage

used to assess one's special

bent for an activity?
(Ad  Creativity test

(B) Intelligence test

(C)  Aptitude test

(D) All of the above
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is the simplest form of

thinking.

(A)  Creative Thinking
(B)  Abstract Thinking
(C)  Logical Thinking
(DY Concrete Thin];ing

Which of the following factor

alfecting learning is relateqd to the

Process of learning?

(A) anureut'suhject-mattnr
(B) Teaching mnlhudulng}r
() Readiness to learn
(D) Linhing Dew knuwledgu to
Previous Icnuwledge
Educatiunal ps}rchulump helps 5
teacher to :
(A gy, -
oW the 'behmriuur of
Iearner
(B)

()

(D

BT e ST -
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18. Il a Student trjpg to s
50lvp

problem Systematically and
following some planped Eteps | .
o TRE gy

using i

(A} Tnal and Error approach
(B)  Problem solving approach
(C)  Project method

(D) All of the above

20. To enhance creativity among

studenis, teacher should Not :

(A)  Provide students freedom to
respond

(B)  Encournge originality

(C) Use

creative  leaming

resources
(DY  Enhance hesitation and fear

21.  Criticism is an example of ..
{A) Extrinsic motivation
(B) Intrinsic motivation

{C)  Positive motivation

(D) Negative motivation
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According to Piaget an individual
passes through ............. stages of

cognitive development.

(A) Six
(B} Four
(Cy Three
(D) Five

Which of the following is the cause

of educationally backwardness
among children?

(A)  Poverty
{(B)  Phy=ical deformities
{C)  Ineffective teaching

I}  All of the above

The interests of an individual are
influenced by ...

(A)  Intelligence

(BY Family environment
(C) Peer EToup

(D) All of the above

PT.0o.
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n

_ o oe
imagination of students,

(A} Lecture method

(B)  Story telling method
(Gr  Project method

(D)  None of the above

The major goal of psychology is :
(A) Todescribe the behaviour

(B)  To predict the behaviour

(C} To control the behaviour

!'D'f{ All of the above

Which law of learning emphasises

the need [or repetition in learning?
(A) Law ol effect

(B Law of exercise

(C)  Law of multiple response

(D) Law of readiness
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Which of the following is an
external factor influencing human

growth and development?
(A)  Intelligence

(B

Economic

and social
condition of family
(C) Age
(D) Emotions
Exceptional children are
(A} Gifted children
(B)  Creative childrpn
(€)  Mentally retarded children
(D

All of the above

Stanford Binet test of intelligenee
is a typoe of

------
--------------

(A) Indi\riduﬂl teat
(B Speed test

i) Group verbal tesy
(D)
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Which organizatio, isaueg }y
m;

(AY  United Nationg De"'?]'ﬂl:lme t
n
Programme,

(B)  World Health Organizatjy,

(C)  International Monetary Fund

(D)  World Bank

How many people Awarded with
the Bharat Ratna Award' 20247

Ar 7

(B) 6

) 5

() 8

Who founded the Forward Block?
a7 Netaji Subhas Chandra Bose
(B) Ras Bihari Bose
(C) Bhagat Singh

(D)  Mahatma Gandhi
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What is the name of the capital of

Ukraine?

(A)  Odesa
(B) Donetsk
(IC)  Lwiv
(M Kyiv

When was Nit; Aayog established?

@ 1" January 2016

B 1 January ngp5

[C} 1=t ']ﬂ-ﬂu[{r:lr EGIE
When

is Nﬂtiﬂn_n] vﬂLErg
elebrated in 1nq;40 Doy

(Ay

& Janyary,
@) 4 Decerghe,
) 25 ‘I“ﬂunr}.
D 5 sﬂphmh@r
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(B Praveen Kumar
(C)  Sanjay Kumar

(D) Ravi Agarwal

In which state is Nanda Devi
National Park located?

(A)  Uttrakhand
{B) Himachal
{C) Bihar

(DY  Gujarat

Who is known as the father of

Indian Archaeology?

(A} Lord Wellesley
(B)  Sir John Sor
(¢f  Sir Charles Jones

(D) Mgmndﬂ' cuﬂﬂmghﬂm
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Which is the Largest Peninsula in

the world?

{A) Arabian Peninsula
(B) Crimea Peninsula
(C) Tasman Peninsula
(D) Indian Peninsula

Who won the Men's single title at

Wimbledon Championship in 2024,
(A) Novuk Djokovic

{B) Carlos Alearaz

(C) Roger Federer

(D)  Pete Sompras

Whose varety is Sonalika and

Kalyan Sona?
(A) Peas
(B) Maize
(Cy  Wheat
(D} Rice

ETo
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0 Ing,
of  Advanced study tity

B
functioning? ey

(A) 1956
(B)" 1965
(C) 1958
(D)

1562

In which state was the Kuks
Movement

Bntish Rule?

organized  againgt

(A) Punjab

(B) Himachal °

(C) Uttar Pradesh
(D) Madhya Pradesh

Which country hosted the Olympic
Games in 2024?

{P-)/ Germany
(B)  England
(C)  France

(D}  Poland
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Which District has the Highest
literacy Rate in Himachal Pradesh?

(A) Hamirpur
(B) Bilaspur
(C) Chamba
(D) Mandi

Himachal Pradesh became which

state of India?
{A) Fourteenth
(B) Eleventh
(C) Twelfth

(D) Eighteenth

Which of the following mountain
Pass connects the link between
Kullu Valley with the Lahaul Spiti
Valleys of Himachal Pradesh.

{A) DBara Lacha Pass
{B) Shipki Pass

(C) Kunzum Pas=

(D} Rohtang Pass

PT.0.

P
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Which River of Himaghy By
ad

£
has the highest powe, gen .
era

. tion
capacity

A

(B)

Sutlej River
Yamuna River

(C) Ravi River

(D) Beas River

Which is the Highest Hill of
Himachal Pradesh?

{A)  Shikar Beh

(B}  Shilla
(C)  Sigri
(D}  Rio Purgyil

Whowasthe first Judge of Himachal
Pradesh High Court?

‘I,M Hon'ble Justice M.H. Beg

(B} Hon'ble Justice T.U, Mehta °

(C)  Hon'ble Justice V.D. Mishra

Hon'ble Justice R.S. Pathak
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L femmam wim o ww wim wiyl ¥4 52 When did Himachal Pradesh

=’ became Union Territory?
(A} 1| T37, 1966 (A}  1* November, 1966
(B) 1 ==, 1956 (B} 1 November, 1956
(C) 1 =EwE, 1967 o7 1* November, 1967
(D) 1 =32, 1968 (D) 1" November, 1968

53.  FEQ dwn = fwen f53 99arm? | 530 Who built Sujanpur-Tihra Fort?

(A}  TFEA IR (A) Kahal Chand
(B) I A (B)  Bir Sen
(C) Ted I= (C)  Mahal Chand

(DY  Abhay Chand

s T [aeTET fgm #1 | 4. When was Bilaspur District of

Himachal Pradesh formed?
(A) 4% July, 1960

(B} 5% July, 1972

(C) 1" September, 1972

(C) @5 1% July, 1954

19 P.T0O.
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when was Kalka Shim), Rai
H Wy

built? y

1903

A

(B) 1906

) 1940

(D) 1946

Which District of Himachal Pradus)

is first in Tomatoes Production?
(Y Hamirpur

@) Kullu

(C) Solan

(D} Mandi

Which is the Largest River of
Himachal Pradesh in terms of

volume of water?

(A Chenab

(B) Ravi
{C) DBeas

(D) Sutlej
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¥ TN Wy 4 fraes 7y fayg 58 How many female Members are
/9 Tt afeen e 4 there in Himachal Pradesh Vidhan
Sabha at Present times?
Ay 2
K) 2
By 3
B) 3
(C) 4
Cy 4
M 5
m 5
59. o T : .
TR FiE faw ad gam 59.  Inwhich year did the Dhami Firing
ta
&) 1946 ke place?
(A) 1948
B 1939 :
® 1939 ||
(C) 1929 l
103 1929
(D) 1942 (D) 1949

60. ‘'ferdl % WAA fed R 7 | 60 Who s the Augygr of Histo
ry of

% Tafga #1 ¥? Punjab Hill §(a¢en

— (A) L. Prarthj
(A) TEL WL
@) fawm T ) Bilram Rayasy,

. knty
(C) UEA W e
Dy 9 H“'“ﬁn-sun
21
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ENGLISH

Read the passage carefully and
give the answer to the questions.

(. No., 61 to 64)

Newspaper sell because of news
and editorial coverage bul it gets
more revenue {rom advertisements,
News

costs  maney,

while
advertisements feteh money. The
economics of modern newspapers
in such that it has to depend on

The

advertisements. ECUMMTICS

of newspaper :publishing requires
both subseribers who can afford to
buy newspapers and businessimen

who can afford to advertise in it

essential for effective and better
management. The head of various
departments must be a part of the
management of o newspaper. They
must be aware of the goals set,
policies and future plans of the
management. They connot afford to
remain cut off from the mainstream

of munagement function.

In addition, each department

should keep managers of other

department  informed about its

activities, This is a vital aspect of

newspaper management,

Bl.  The growth of o newsp;
The growth of the press depends paper depends
on,
on both. Therefore, in newspaper
management neither aspect can be (Al The editorial
neglected. .
& (B Large Scale Subseribers
Co-ordination among the ,
. IC})  Subseribers and advertisers
departments, editorial, eirculation,
advertising and production - is very (DY Advertisers
[J-2508] Series-A 22
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62.  Themainidea of the first paragraph
ol the passage is
(A} The publishing of newspaper
(B)  The economics of NEWspaper
publishing
(C)  Importance of advertisements.
(D) Editorial of the paper
63. The word 'goall in the passage
means
{A)Y  conclusion
(B)  result
(C)  benefit
(B0 growth of the press
64. Second paragraph of the passage is
about
(A) Economics of printing
(D)  Future of newspaper
(C) Effectiveness of  news
COVCrage
(I3} Effectiveness newspaper
management

Identify the appropriate alternative from
the given oplions for filling the blanks
given below (Q. No. 65-70)

(J-2508] Series-A

65.

67.

23

GET IT ON
Google Play

-y

The passenger were afraid but the

caplain them, that there was
no danger.

(A}  ordered

(B) advised

(€}  assured

(D) counselled

Discasesare ____ through contact

with infected animals.

(A~ Transmitted

(B) Transported
(C) Transplanied
(D) Transferred
He hos full facts but is
deliberately hiding them.
{A¥" in his sleeves
(B}  upon his sleeves
(C)  up his sleeves
(D) under his sleeves
P.T. 0.
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68,

69.

70.

Shivaji a plan to escape {rom
Jail

(A) Hit against

(B}  Hit about

(C)  Hit out

(D) Hit upon

the accident, the train will

arrive in time.

(A) Beside
(B} Barring
(C)  Despite
(D) Accepting

Heis __ by nature and so avaids

all company.
(A) Timid
(Bf  Gregarious

{(C) Cordial

(D)  Out going

[J-2508] Serles-A
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Choose the correct meaning of the phrase/

Idiom (Q. No. 71 to 76)

T1.

T2.

73.

Merry as a cricket

(A} 'Toenjoy the game of cricket
(B) To be good at sport
(C)  To be successful

(D} To be carefree

To rule the roast

(A) Tosurrender

(B Todomineer

(C) Tofight

(D}  Torun away

Ta fly off the handle

(A" To dislocate

(B) Tolose one's temper
(C) Tobe airborne

(D) Tobe different


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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74.  On the spur of the moment

(A) At once, without any

deliberation.

(B} In accordance with the

prevailing style
(C)  Open to blame

(D) Be extremely fond of

something

75. A hard nut to crack
{A) Confused
(B} Tochange the things
(Cy A difficult problem to salve
(D) To get injure
76. ‘ToSmell a rat
(A) Tosmell bad edour
(B) To dointeresting things
(C) Show unwillingness
(P} Tosuspect a trick

Find out which part of sentence has an
error (Q. No. 77 to 80)

[J-2508) Series-A

7
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7.

78.

8.

GET IT ON
Google Play

-
il

A. the driver tried his best/B to
avert the accident by/ C. bringing

the car/D. to a suddenly stop.

(A A
B B
© c
(D} D

A. the lechnician reminded/ B. them
to have a /C. thoroughly cleaning of

the / D, machine nfter each usge.

(A) A
iB) B
er C
M D

A 1 advised my sor/ B. to engage
two coolies instead of one / C.
because the luggage was too much
heavy for a single coolie/ D. No

errTor.

(A A
(B B
G C

D) D

P.T.0.
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80. A Theangrymanwalked hurriedly/ 82.  Most children are liking ice-cream

B. into the crowded recom /C. and (A) were like

shouted loud at/ D. the puest.
(B) can liking

(A) A
©f like
(B B
(D} Noimprovement
€ C
83. The colour softened as the sun went
(D) D down.
(A)  brightened
o~
Choose the more appropriate alternative (B) mellowed
for the underlined words/sentence (%) | dedpenid

(Q. No. 81 to 85)
(D)  Noimprovement

81. Everymorning [ get upat 4 0’ clock,

84. He took disadvantage of the

situation and cheated many people

l;/ Got u
P (A)

(B) Was getting up

but teday I et up at 7 O clock.

disapproval

(BY  advantage

(C) am getting up (C)  favour

(D)  Noimprovement (D) Noimprovement

[J-2508] Series-A 26
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He was released from the hospital 88. A dramatic performance

yesterday

(A)  Mask
JA)  Discharged
(B} lift out [B] Mnaque
ICY  dismissed (C+  Masque
(D) No unprovement (D Mascot

Give appropriate one word | 89, A place adjoining kitchen for

substitution for the

(). No. 56 to 90)

following washing dishes ete.

(A) Cellar
86. Poem in short stanzas narrating a
popular story. (B)  Pantry :
{A) Epic C}  Wardrobe |
(B+ Ballad (B Scullery
G Ballet . .
© e 90.  Anything which destroys the effect
D) Sonnet of poison.
87. One who talks continuously (AY Séram

(A}, Loguacious (B Antidote
(BY Voracious ) )
(C) Anuseplic
(C)  Immpecunious

(D} Seramycin
(D} Avaricious

[J-2508] Series—-A 27 P.T.0.
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91, 3w IfwgmrEn w9 @ M ¢ frm | 9L
toTE wa figem ow=m ow o

SOCIAL STUDIES (S5T)

GET IT ON
Google Play o

What is the name of Historian who

wsed the word "Hindustan™ first

02.
(A) W
(8)  sfvrdmm o
‘ (©) Twd
D) AT
93,

YA dem 1 v wm
(A 1216-1216
(B)  1175-1192
(C)  1266-1287

D) 1130-1145

[J-2508] Series-A

93,

28
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time?

(A)  Abul Fajal
(B Al-ldrishi

(C)  Minhaj-i-Siraj
(D}  None of them

Where were manuscripts kept?

(A} Home
{B)  Archioves
(CY  Office

(D)  Noneof thege

What was the Reign peri od of
Prithivi Raj Chouhan?

(4 1216.1238
B)  1175-1192

€ 1266-1287

D) 11301145


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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94, 3T i = A9 FWMI H 13 a9 94. Name of the person who became

kil A 4 HuR 997 the king at the age of 137
(A el (A) Shahjahan

(B) wmn (B) Babur

(Cy == (C)  Ashoka

(D) = (D7 Akbar

95. TwEEl & anftqF aql 9 IWF | 950 Which was the capital of Shahjahan

TAEH Tl 1? in the earlier?
(A) | faeeit (A)  Delhi
(B) (B} Agra
(C) el (C) Calcutta
(D} ™ | 1§ T D)  None of them
op,  arereT uf=w fEe A 96. Who built the temple of Raj
Rajeshwar?

(oy” T TA TA .
(A) Raja Raj-Raj Chola

() FW 1T
(B) Krishana Raj
(C) Tm HW
N (C) Rana Sanga
(0) ¥R F A

(D) None of them

[J-2508] Series-A 29 P.T.0.
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7.

G3.

TR & e w47
(A)  TEEY I

B8) &

(€) WP, T

(0) HYm =% AR

Frae A gEe # wEm fEEE

form = &@?

(A) IR T TET &
) mmm’rqa:ﬁai:'m
(C) ¥ F T * e
(D) T8 | w1 T
gdai 7 ST w1 FF A1)
(a) EEiA

By =M

() THfE

(0) ¥9 A &E TE

[J-2508] Series-A
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a9,

GET IT ON
Google Play

——m

Who was the writer of National

Anthem?

(Af Rabindra Nath Tagore
(B) NehruJi

() M.K. Gandhi

(D) Subhash Chnadra Bose
Okhali and Moosal was used to?
(i Togrind grain

{B)  To cook grain

{C)  To store grain
i) None of these

Who was the court poet of

Harshavardhana?
iA) Ravi Kirti
(31  Bann Bhut
(C)  Pulkeshin

(D) None of them


https://applink.adda247.com/d/XhqWf9lSap
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100. ﬂﬂ?%‘ﬁmﬁmﬁm‘qmgﬂ

(A)  Fum 3 % fm
B) T R e
I S i o
D) 3T 7 %

101. Wﬁﬁ;ﬁﬁﬁﬂ‘rﬁ?

(A} 1757
(B) 1746
(C) 1738
(D) 1726
102. THR Fi A3+ 7E )
(A) 1754
B} 1764
(C) 1744
(D 1784

[J-2508] Series—-A
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100.

101,

102

GET IT ON
Google Play

Where was 1Ist British factory
started?

(A)  Bank of Krishana River
(B)  Bank of Ganga River
{C)  Bankof Hugali River
(D}  None of these

When was the battle of Palasi
fought?

N 1757

1B) 1748

) 1738

oy 1726

When was the Battle of Buxgr
fought?

{Al 1754

B 1764

(C) 1744

(DY 1784

P.T.Q.
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103. VR-U-Uqu fwal s s an?
(Y e
Bl

1Y e

(B)
(€)

(D) e fde

104, TEEH T overesnnn, B TAGTA T
fm 7

(py faem

(8) iIgA

(C) ¥ FH W
o) v @ F T

£A-m  za  d@  # GHE

= U1/

105.

Wid

ks

LT

AHUHT

(A)
{B)
(€}

() ¥4

[J-2508] Series-A 32
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103. Who wad called the Ser-E-Mysore?

104.

105.

(A) Shujaudolla
(B) Vir Surendra
(C) Tipu Sultan
(D) Ranjeet Singh

Dalhousie started the principle

OF vecennsnrransanass ?

(8Y Lapse

(B) Together

(C) Separate

(D) None of them

Which country grews the crop of

Indigo?
(A) India

(8) England

(C) USA.

(D) Russia



https://applink.adda247.com/d/XhqWf9lSap
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106-

107.

108.

W ® oz o i 89

A e s |, T4
T

(B) 1

© TR T ey e

(D) =% |w, g T, weyfy

ﬁmm*—’fwmﬁmmﬁm#ﬂ
B 27

(A)  Trefa
(8) wWvM wHH
(@ 3I9-T=wfa

(D) ¥ | FE A€

w% T fRa wArife W e
&)

Ay 3

(B) 4

{C} 2

Dy 9

[J-2508] Serles-A
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107.

108.

GET IT ON
Google Play

Indian Parliament includes?

(A) Rajya Sabha, Lok Sabha,
Judiciary

(B} Cabinet, Rajya Sabha, Lok
Sabha

(C) Prime Minister, President,
Lok Sabha

(D) Lok Sabha, Rajya Sabha,

and President

Who is the leader of Ruling party in
Lok Sabha?

(A)  President

(B)  Prime Minister
(C)  Vice-President
(D) None of these

How many Nominated members

were in Lok Sabha?
A)” 3
(B) 4
ey 2
o 9

PT1.0.
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109. wfemiaren WM gewEiz %4 109, When was Jallian Wala Bagh

'5341? massacre happen ed?

(A) 14 3T, 1919 (AT 14 April, 1919
(8) 13 T, 1919 (B) 13 March, 1919
(C) 13 May, 1919
(C) 13 W, 1919 y

(D) 13 April, 1919

o) 13 4, 1919
110. Where is Indian Supreme Court
110. oA &1 HE=3 e w6 87
gituated?

(A) bid (A} Mumbai

(8) (B) Kolkata
| (c) feeet (¢f Delhi
i (©) ATE (D} Bangluru

111, et o ww @ 0 @ T A A 111. What is the minimum age below

| 1 - Py
a 3 7 Fm == &= e Y, which it is illegal to employ a child

for labour at home or factories?

(AY! 14 @

(A) 14 year
@ 12 ad

(B) 12 year
) 16@d

(C) 16 year
o) 15 T

(D} 15 year

[J-2508] Serles—A
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MW TR am wmw g2 112, When was the I world war ended?
i (A) 1944 (A) 1044
(B) 1945 (Br 1945 |
(C) 1939 (©) 1939
(D} 1914 (D} 1914

113, mmfﬂgaﬁmmﬁ“ﬁ 113. Whntwuatheageuftheﬂhﬂgﬂ

HE S o Singh when he was hanged?
W owm ket
(B) 22 year N
(8) 227§
(Cy 21 vear
(C) 21 =M
W 23 year
b :
(D) 23 114. Who started the Temple Entry
114. wf=y vay IEem famd wemm? movement?
(B) Gandhi
(B)
(C) Nehru
(C) &
(D)  Noneof them
(o) T A w L]
3% P.T.0.
[J-2508] Serles-A
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1135.

116.

17

s fFma w1 “ feg wnd wfgenan

T w0 B2

(A) oM w=RA

T q=i
qiEm ™ =

(B)
(C)
0y T A w1 T

Y Hgear & wean fFe = W

T et?
(A) TF =ie
() T W=
(C) R 4

(©) T 9 =i TE

v A s gz fEd 0 =

17

BT

(B)
(C)

(D)

[J-2508] Series=A

GET IT ON
Google Play

115. Who said "Hindu Religion crushed

116.

117.

the women?"

(A} DBegam Rukeya

{B) Ras Sunderi
I,gh Pandita Rama bai

(D) None of them

The Sward of Tipu Sultan was

made of which steel?

(A) Iron steel

B

Wootz Steel

(C) Carbon Steel

(I None of these

How many colours were there in

French Revolutions Flag?
(&Y Two
Four

(B)

(C) Three

(D) Five
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118, g FHIYA A W A 118, %EndidSimunEummjssiunma;h

in India?

(A) 1919
(A) 1919

(B) 1928
(B» 1928

€y 1931
(C) 1931

(D) 1939
(D) 1939

9. “drE” w1 QU AW wn e
119, What was old name of "Tokyo"?

A w (A) Edo
(8) 3 {B} Prachark
Ib (C) 2 (Cy Meto

(D) =99 8 T3 TE (D) None of them

Chipko Movement?

(AT~ Sunder Lal Bahuguna

-

(A) EeTEE TE
(B} Trivedi
8y fEd
(C} Balkrishana
(C) ETErHe
(DY None of them
©) T § wd

[J-2508) Series—A ] PT.O.
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121, TFET T e 37 T 27

(A @H

@ @

(cy =m

(D) T A =1 AL

122, 2011 W TN # NRE WA o
feral &1 waw = e a2

(£)  52%
(B) 42%
(C) B6%
(D) 65%
123: qre & A WEE FA 91?
(A) T

(B) F=

(C) TIIEF

(D) HRTE

[J-2508] Series-A 38
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122.

124.

GET IT ON
Google Play

The Government has ........ organs?

(A} Three

(B) Two

(C) Four

(D) None of them

What was the literacy rate of

women in [ndia according to 2011

Census?

A 52%

(B) 42%

(C) S56%

Dy 65%

Who was the last Ruler of Nepal?
(A) Virendra

(B) Gyanedra

(C) Rajbahadur

(DY Virpratap
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4. FEm 2w A Q) el spEen @2 124. Which country pas o o
Y

- system?
CYR L
(A}  Ching
(B) qrid
Eei S (B India
(C Britai
D) e ) ritain
g (D} Pakisi
125, 9AM R stfusay 2w o6 R rGa istan
Iiﬁlﬁ 22 125. In the world maximum countries
have ............... Government?
(A) T :
. (A)  Army
(B) <rraif=s
(B} Democratic
(Gr =i
(C) President
O 0 |9 % 76
{D} None of them
126. ¥a § ............. T TR £
IEEI Demﬂcmq hﬂﬂ t—hﬂ I"U.II'E uf—*-Hi—Hi-?
Gy
i (A) Teople
(8) (BY Women
(C) I (C) Rich
]
(O) A F (DY None of them
39 PT.0.

[J-2508] Series-A
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127. fewea o fredt wd 2023 F whe 127,

128.

129.

TyE ame?

(A) FE
(B) THM
(Cy Wil =i

iy

(D) =99 |/ W T

Wmﬂﬁmﬁﬁ

afEn?

(A) TAFEH
(B) - TAMFER

(C) HEaTHI

0y e

vig § Az TR # Aen Ay

feat 7
(a) 21 @9
() 18 @4
c) 197

(o) 17 @

[J-2508] Series-A
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GET IT ON
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Which calamity Himachal faced

last year 20237

(A) Earthquake
(B) Storm

«) Heavy Rain
(D) None of them

What are the shape of Building of

Anti Earthquake should be?
tA) Circular
{BY Square

j,if ) Rectongular
(D) Triangular

What is the minimum age of voting

in India?

(A) 21 year
_;

(B) 18 year

(Cy 19 year

(D) 17 year
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130 fFe Fo1 “4 & U= 3 W = 130. Who said,"l am the State and my

€ FE words are law"?
(A)  F 15mi

(A)  Louis xv
(B) ¥ 14

(B) Louis xiv

T 1840

# (C)  Louis xviji
0 9 ¥ 71 3¢

(D)  None of them
Bl WET T R R 9 e

B9 131 The former of Soviet Union were
known as?

W (4) Duma

LE:V Sk (B) Kulak

(C) == B i

0) T | F¢ T

(D) None of them

3. ga%e € 3y W 9@ 9 99 132. According of Area which state is

' T biggest in India?
I (&) T wEm (A) Madhya Pradesh
(B) reEUH () Rajasthan
(C) Term (C) Gujarat
(D) T |+ 7 | (D) None of them
' [J-zsna] Serles-A L et

o | g
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133

134,

135.

[J-2508] Series-A

T & waEifuE SRS A9 FH-1

(0) T A = T

T T = e 82

Ay 2000 &,

(8) 2500 famit.
(€) 2900 fit.
(D) 3000 fere.

4TE w1 wiauE F4 @ o

(A) 24 791, 1949

(B) 26 TR, 1949

(C) 26 a1, 1950

(0) T4 H F§ Tl

42

GET IT ON
Google Play

139. Which is the most productive Areas

134.

135,

of India?

{A) Peninsular Plateau

iB) Indian Desert

(€) Northern Plains
(D) None of them

Length of Ganga River is?
(A) 2000 km

(BY

-

2500 km
(C) 2900 km
(D) 3000 km

When did the Indian Constitution

Implemented?
(A) 24" November, 1949

(B) 26* November, 1949
{G/ 26% January, 1950

(D) None of them
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136, Fratam mm 7 P 7z ¥R 136 How many members Election

£ Commission has?
(A) = (A)  Two
(®8) wa ? Five
€} (C) Three -
0) =m (D) . Four
137. WA wEE i w6 137. How many Houges Indian
(A) 1 Farliament has?
B) 2 R !
(C) 3 W °
iy 3
D) 4
' o 4
133. W@ & wfm vt @R
# 138, Who is the present Vice President
of India?
(A) o SEm vAEs
(A}  Sh, Jagdish Dhankhad
(B) viw T
(B)  Meera Devi
(C) wwAy fHE
(C)  Raj Nath Singh
(D) ¥ @ w1 T
(D) None of them
43 P.T.O,
1-250) Series-A -
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139. v s o A s R
27
(A) b
(B) 6
€ 7
(D) B
|40, WA F WEEA FE@ T OF AH
27
(A) TFON HEEE
(8) &g wea
() +rd wem
(D) T« FYEA
(4], % @@ N W OEE A @2
(A) FETEEEAR
(8) MAFR
(C) HTF
(D) 3ITT
[J-2508) Series-A

139.

140.

141.

GET IT ON

Google Play

How many fundamental right are

in Indian Constitution?

(A) b
|f 6
c 7
(D) 8

What is the name of Ancient Indian
civilization?

b}l"/ Harappa civilization

(B) Vedic civilization
(C) Maurya civilization

(D) : Gupta avilization

Who was the last Ruler of Nand
Dynasty?

{:}JI Mahapadmananda
(B) Dhananand

(C) Ashoka

(D)  Udyan
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g2, AR F2 w1 s g7

(Ay ATy
(8) Fh=
(C) Tum
(D) &M
143 9RER ANfer e w20
(A = e
(B) W=
(C) =
(D) =R
14, avf s o faed ad &7
(A) 4
(B) 8
C) 6
(M b

l-2508) Series-A

GET IT ON
Google Play

142. Bimbisara was the king of ?

45

143,

144.

-iﬂﬁ

Mﬂl Magadh
(B) Koshal
(C) Gandhar
(D)  Anga

Who was called the Napoleon of
India?
(A) Chandragupt Maurya
Samudragupta

(C) Ashok
(I  Kanishak

How many Varna are there in

‘u'n.rnu_u_jfstem?
x4
(B) B8
r 6

(M 5

P.T1.0.
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e 1

145. THUA W WrEH TH Foa? 145. What was the Ancient name of
Gujarat?
(A) T=H
l (A) Indraprastha
' By WRfA{
i l' { (B) Pataliputra
1. (C) TR
! rsh
“,I. (e Purshpur
B e (D) Laat
146. BT & 4i? 146. Who was Draupadi?
(A) wiEal Fi e (AT~ Wife of Pandavas
(B) HIXTH =l e (B) Wife of Samudragupta
(C) FrAl W W (C) Wife of Kauravas
(D) TFES F U] 1 (DY Wife of Eklavya
147, ®iE1 F1 w9 w6 fem 87 147. Where is Sanchi Stupa situated?
(C)  Kanpur
(C) AT
4 [ ] {H{' Ehﬂpﬂl
(D) WA
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148. When was Swami Mahavir born?

(A 589%q (A) 589B.C.
(B) 5993y, (B) 599 B.C.
(C) 5673y (C) s67B.C.
(D) 568%7y ®r 568 B.C,
19, TR T Y = o 149. Who came with Mahmug Gajnawvi
in India?
2 b (A)  Ibanbatuta
®) T (BY  Firdoshj
) = (C)  Bernier
@ =-fassi (07 AlBiruni
150. AYF W 7 Ay o 27 | 150. What is the scientific name of
Modern man?
(A) gy
A" Homosapionse
B ﬂm (B)  Homo Erectus
©) eriefae (C)  Homohabilus
©) w9 A w6 (D) None of them
arepee
[J%GH] Series-A "
\ e —————


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap



